The Battle of
~ Bosworth Field ‘

Tick the correct answer.

1. When did The Battle of Bosworth Field take place?

E] 22" August 1585 [j 22" August 1485

D 22" August 1445
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2. The House of York was represented by which flower?

D a yellow daffodil [j a red tulip [j a white rose

_/
. )
3. The House of Lancaster was represented by which flower?
C] a red rose C] a white daisy C] a yellow daffodil
_/
(4. How did Richard III die? h
D knocked off his horse in battle D of old age
D killed by Henry Tudor
\ _J
4 )

5. After the battle, who did King Henry VII marry?

Elizabeth from the House of Lancaster

Elizabeth from the House of York

Elizabeth from the House of Leicester
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Answers
4 )
1. When did The Battle of Bosworth Field take place?
[ ) 22+ August 1585 22 August 1485
C] 22" August 1445
- J
~
2. The House of York was represented by which flower?
D a yellow daffodil D a red tulip a white rose
\ y
~
3. The House of Lancaster was represented by which flower?
a red rose D a white daisy D a yellow daffodil
- J
~
4. How did Richard III die?
knocked off his horse in battle D of old age
D killed by Henry Tudor
- J
4 )

5. After the battle, who did King Henry VII marry?

Elizabeth from the House of Lancaster

v | Elizabeth from the House of York

Elizabeth from the House of Leicester
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